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PART _ A

Answer ail questions (Each question carries 1 mark).
1. ff C = x3 _ Zx, find the marginal cost.

2. Find the deriva tive ot !.
3. When mir,l:l 

,o.rnlno ,r,lu. is given by D = 50 _ Sp, finddemanded when tf.,. .omLoO,*V is a free gooO.

4. Find 
"!L 

(r, + 1) (xs + 1).

PART * B
Answer any 7 questions (Each question carries 2 marks).
5. State the conditions for maxima of a function.
6' Define exponentiar function with a suitabre exampre.
1, . dzv,/r. Furd 2,d*, i,f y _ (x + 2)2.

8. Define continuity of a function at a point.
9' Differentiate between increasing and decreasing functions.
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10. Siate the Euler's theorem'

11 " Difterentiate 3x'

12. What is constrained optimization ?

" dz ,^-the functio s z = (x* y)2.
13. Find ;1 tor

14. Define Marginal Revenue'
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PART * C

Answer any 4 questions (Each question carries 3 marks)'

dov /
15. lf y = x10 + 3xB + 4xz -7x + 8' find 't'd*o 

'

16. Draw the graph for the {unction Y2 = 4x'

17. What are the properties of continuous functions ?

18. Find the differential coefficient of x3 + y3 = 3axy'

19. Using L'Hospitals Rule" evaluate 

"i' 

(*'-3x+ 2) l(x2 -5x+ 6)'

20'Findthefirstorderpartialderivativesforz=2w2+8wxy-x2+y3.(4x3=12
PART _ D

Answer any 2 questions (Each question carries 5 marks)'

21'ExplaintheapplicationofDerivativesinEconomicAna|ysis.

22' Yer\IyEuler's theorem {or the function s = 3X2 + 2hxy + by2'

23. Define Erasticity. Find the elasticity of demand if the quantity demanded is

4 units and if the demand law is P = G;f

24. optimize the utirity fungfion s = 48 - t-:,?i-3(v - 4)2 subiect to the tontlfllt=

x + 3y - 9'= ;;;o tino the maximum utility'

(7x2=14\


